
Ersatzteilliste

 

AC166i.2-2,6-7W

6721848443
(2022/02) db

1



 2022/02 2 6721848443 



 2022/02 3 6721848443 



AC166i.2-2,6 W 7 733 701 857 5
AC166i.2-3,5 W 7 733 701 859 7
AC166i.2-5,3 W 7 733 701 861 9
AC166i.2-7,0 W 7 733 701 863 11

 2022/02 4 6721848443 



Ersatzteilliste

AC166i.2-2,6 W       7733701857

 2022/02 5 6721848443 



AC166i.2-2,6 W       7733701857

Bezeichnung Bestell-Nr. AC
16

6i
.2

-2
,6

 W

Bemerkungen
1 Abdeckung 8 750 502 501 ■
2 Filter 7 739 832 473 ■
3 Display kompl. 8 750 501 604 ■
4 Leiterplatte Display 8 750 501 603 ■
5 Deckel 8 750 501 598 ■
6 Rahmen 8 750 501 658 ■
7 Abdeckung Schraube 7 739 832 478 ■
8 Abdeckung rechts 7 739 832 479 ■
9 Abdeckung 8 750 501 596 ■

10 Lamelle horizontal 8 750 501 635 ■
11 Verdampfer kompl 7 733 700 136 ■
12 Abdeckung Motor 8 750 501 625 ■
13 Motor 7 739 832 343 ■
14 Lager 7 739 832 345 ■
15 Gebläse 7 739 832 483 ■
16 Gehäuse kompl 8 750 501 581 ■
17 Gehäuse kompl 8 750 501 582 ■
18 Motor 7 739 832 349 ■
19 Lamelle 7 739 832 485 ■
20 Abdeckung links 7 739 832 486 ■
21 Halterung 8 750 501 607 ■
22 Ablaufschlauch 7 739 832 497 ■
23 Lager Gehäuse 7 739 832 344 ■
24 Deckel 7 739 832 487 ■
25 Wandhalter 7 739 832 488 ■
26 Steuerung kompl 8 750 502 502 ■
27 Abdeckung Steuerung 8 750 501 600 ■
28 Gehäuse 8 750 501 608 ■
29 Hauptleiterplatte 8 750 502 503 ■
30 Raumtemperaturfühler 8 750 501 485 ■
31 Temperaturfühler 8 750 501 484 ■
32 Anschlussklemme 8 750 500 110 ■
33 Fernbedienung 8 750 502 504 ■
34 Dichtung 7 739 832 361 ■
35 Ablaufschlauch 7 739 832 362 ■
36 Filter 7 739 832 363 ■
37 Mutter TLM-B02 - 3/8’ 7 739 832 338 ■
37 Mutter TLM-A01 - 1/4’ 7 739 832 339 ■
 Halterung Fernbedienung 8 750 501 605 ■

 2022/02 6 6721848443 



Ersatzteilliste

AC166i.2-3,5 W       7733701859

 2022/02 7 6721848443 



AC166i.2-3,5 W       7733701859

Bezeichnung Bestell-Nr. AC
16

6i
.2

-3
,5

 W

Bemerkungen
1 Abdeckung 8 750 502 505 ■
2 Filter 7 739 832 499 ■
3 Display kompl. 8 750 501 604 ■
4 Leiterplatte Display 8 750 501 603 ■
5 Deckel 8 750 501 598 ■
6 Rahmen 8 750 501 659 ■
7 Abdeckung Schraube 7 739 832 501 ■
8 Abdeckung 8 750 501 596 ■
9 Lamelle horizontal 8 750 501 636 ■

10 Verdampfer kompl. 8 750 501 622 ■
11 Abdeckung Motor 8 750 501 626 ■
12 Gebläsemotor 8 750 501 576 ■
13 Lager 7 739 832 345 ■
14 Gebläserad 8 750 501 602 ■
15 Gehäuse kompl 8 750 501 583 ■
16 Gehäuse kompl 8 750 501 584 ■
17 Motor 7 739 832 349 ■
18 Lamelle vertikal 8 750 501 681 ■
19 Abdeckung 8 750 501 569 ■
20 Ablaufschlauch 7 739 832 497 ■
21 Lager Gehäuse 7 739 832 344 ■
22 Deckel 7 739 832 487 ■
23 Wandhalter 7 739 832 488 ■
24 Steuerung kompl 8 750 502 506 ■
25 Abdeckung Steuerung 8 750 501 600 ■
26 Gehäuse 8 750 501 608 ■
27 Hauptleiterplatte 8 750 502 507 ■
28 Raumtemperaturfühler 8 750 501 485 ■
29 Temperaturfühler 8 750 501 484 ■
30 Anschlussklemme 8 750 500 110 ■
31 Fernbedienung 8 750 502 504 ■
32 Dichtung 7 739 832 361 ■
33 Ablaufschlauch 7 739 832 362 ■
34 Filter 7 739 832 363 ■
35 Mutter TLM-B02 - 3/8’ 7 739 832 338 ■
35 Mutter TLM-A01 - 1/4’ 7 739 832 339 ■
 Halterung Fernbedienung 8 750 501 605 ■

 2022/02 8 6721848443 



Ersatzteilliste

AC166i.2-5,3 W       7733701861

 2022/02 9 6721848443 



AC166i.2-5,3 W       7733701861

Bezeichnung Bestell-Nr. AC
16

6i
.2

-5
,3

 W

Bemerkungen
1 Abdeckung 8 750 502 508 ■
2 Luftfilter 7 739 832 511 ■
3 Display kompl. 8 750 501 604 ■
4 Leiterplatte Display 8 750 501 603 ■
5 Deckel 8 750 501 598 ■
6 Rahmen 8 750 501 660 ■
7 Kappe 7 739 835 129 ■
8 Abdeckung rechts 7 739 832 515 ■
9 Abdeckung 8 750 501 596 ■

10 Lamelle horizontal 8 750 501 633 ■
11 Verdampfer kompl. 8 750 501 623 ■
12 Gebläsemotor Abdeckung 7 739 832 518 ■
13 Asynchronmotor 7 739 832 401 ■
14 Lager 7 739 832 345 ■
15 Gebläse 7 739 832 519 ■
16 Gehäuse kompl 8 750 501 585 ■
17 Gehäuse kompl 8 750 501 586 ■
18 Motor 7 739 832 521 ■
19 Luftgitter 7 739 832 522 ■
20 Abdeckung links 7 739 832 523 ■
21 Halterung 8 750 501 607 ■
22 Ablaufschlauch 7 739 832 497 ■
23 Lager Gehäuse 7 739 832 344 ■
24 Deckel 7 739 832 524 ■
25 Wandhalter 7 739 832 525 ■
26 Steuerung kompl 8 750 502 509 ■
27 Abdeckung Steuerung 8 750 501 600 ■
28 Gehäuse 8 750 501 608 ■
29 Hauptleiterplatte 8 750 502 510 ■
30 Raumtemperaturfühler 8 750 501 485 ■
31 Temperaturfühler 8 750 501 484 ■
32 Anschlussklemme 8 750 500 110 ■
33 Fernbedienung 8 750 502 504 ■
34 Dichtung 7 739 832 361 ■
35 Ablaufschlauch 7 739 832 362 ■
36 Filter 7 739 832 363 ■
37 Mutter TLM-A01 - 1/4’ 7 739 832 339 ■
37 Mutter TLM-C03 - 1/2’ 7 739 832 398 ■
 Halterung Fernbedienung 8 750 501 605 ■

 2022/02 10 6721848443 



Ersatzteilliste

AC166i.2-7,0 W       7733701863

 2022/02 11 6721848443 



AC166i.2-7,0 W       7733701863

Bezeichnung Bestell-Nr. AC
16

6i
.2

-7
,0

 W

Bemerkungen
1 Abdeckung 8 750 502 511 ■
2 Luftfilter 7 739 832 543 ■
3 Display kompl. 8 750 501 604 ■
4 Leiterplatte Display 8 750 501 603 ■
5 Deckel 8 750 501 599 ■
6 Rahmen 8 750 501 661 ■
7 Kappe 7 739 835 129 ■
8 Abdeckung rechts 7 739 832 546 ■

10 Lamelle horizontal 8 750 501 634 ■
11 Verdampfer kompl. 8 750 501 624 ■
12 Gebläsemotor Abdeckung 7 739 832 549 ■
13 Gebläsemotor 8 750 501 577 ■
14 Lager 7 739 832 345 ■
15 Gebläse 7 739 832 550 ■
16 Gehäuse kompl 8 750 501 587 ■
17 Gehäuse kompl 8 750 501 588 ■
18 Motor 7 739 832 552 ■
19 Luftgitter 7 739 832 553 ■
20 Abdeckung links 7 739 832 554 ■
21 Ablaufschlauch 7 739 832 497 ■
22 Lager Gehäuse 7 739 832 344 ■
23 Deckel 7 739 832 555 ■
24 Wandhalter 7 739 832 525 ■
25 Steuerung kompl 8 750 502 512 ■
26 Gehäuse 8 750 501 609 ■
27 Hauptleiterplatte 8 750 502 513 ■
28 Raumtemperaturfühler 8 750 501 670 ■
29 Rohrtemperaturfühler 8 750 501 665 ■
30 Anschlussklemme 8 750 500 110 ■
31 Abdeckung Steuerung 8 750 501 601 ■
32 Fernbedienung 8 750 502 504 ■
33 Dichtung 7 739 832 361 ■
34 Ablaufschlauch 7 739 832 362 ■
35 Filter 7 739 832 363 ■
36 Mutter TLM-B02 - 3/8’ 7 739 832 338 ■
36 Mutter TLM-D04 - 5/8’ 7 739 832 418 ■
 Abdeckung 8 750 501 597 ■
 Halterung Fernbedienung 8 750 501 605 ■

 2022/02 12 6721848443 



 2022/02 13 6721848443 


